Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Note: Answer any FIVE full quéstioy( iéhb"bsing ONE full question f;'om each module.

; Module-1

e

1 a. Why machine learning is important? Define a well posed learning problem. (10 Marks)
b. Write and explain Find - S-algorithm. L3 (10 Marks)

Q) OR s
2 a. With the help of amg""@xainple, write and explain candidate elimination algorithm. (12 Marks)
b. Discuss about ammnblased learner. / (08 Marks)

Module-2

3.2
: L (10 Marks)
b. Discii¥s any two issues in decision tr ""f"‘:"”“ (10 Marks)
OR
4 a. Write the algorithm for ID3. (10 Marks)

b Day | Outlook | Temp | Humidity Decision
1 Sunny 4 Hot High
2 Sunniy | Hot
3 | Overcast | Hot
4 | Rainfall | Mild
5 | Rainfall | Cool | ..
6 .| Rainfall | Cool. | ‘N
77| Overcast | Cool | /
o8 Mild'  High
1 9 %Coo?iw Yes
,,,,,, 10 Yes
151 Yes
12 Yes
13 Overcast Hot Namial Yes
14 :;Lm_liamfall Mild ngh Strong No

Solve the above using ID3 algomthm for information gain on “Sunny” outlook factor.
(10 Marks)

Y
i

Module-3

5 a. Define perceptron. Exglam the working of perceptron with a diagram. (10 Marks)
b. Explain the importance of the terms :
(1) Hidden layer .

(i) Generalization
(iv) Stopping criterion (10 Marks)

OR
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What is gradient descent and delta rule with derivation of grad1ent descent rule? (10 Marks)

Explain back propagation algorithm. o ¥

Module-4
Explain Naive Bayes classifier.
Explain Brute force MAP learning algorithm

e Module-S &
(ii) True error (i11) RWorcement learning
learning algorithm.

Explain K-nearest neigh}i:

OR CMRIT LIBRARY
 PANGALORE - 560 037

Explain locally weighted linear regression.
Write short notes on: :
(i) Estimating Hypothesis accuracy
(i1) Bmmmal sttrlbutlon
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